

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### Solicitation

- 41	178	140	40	100
N	UN	ш	: 1	
	234			

ISCN0018

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

DEPARTMENT OF ADMINISTRATION

KRISTA FERRELL 304-558-2596

1900 KANAWHA BLVD, E. BUILDING 5, 10TH FLOOR CHARLESTON, WV 25305

IS&C - COMMUNICATIONS

304-558-5472

Advanced Communications VENDOR Company

P.O. Box 6650 Wheeling, WV 26003-0644

DATE PRIN 09/12/ BID OPENING DATE:	2012	′2012	BID	OPENING TIME 0	1:30PM
LINE	QUANTITY	UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
0001	TIES, CABLE	LS AND WIRING	280-75 G	See Price Sheet	\$837,240.95
	AGENCY, THE SOLICITING E AND SUPPLIES TELECOMMUNIC (16), DEPART DISTRICT 6 F WETZEL, AN DISTRICT SUI I-70 SECTI WV DEPARTMENT (	CONTROL OF MEST VIRG SIDS FOR THE CATIONS DISTRICT OF HEADQUARTER CONTROL OF MENT ON THE CONTROL ON THE CONTROL OF MOTOR VER AND WEIL		NG FOR THE CHNOLOGY, IS LS, EQUIPMENT, ABLE IS IN SIXTEEN, ATIONS: IV DHIO, MARSHALL, CAMP, SAND HILL, D, AND PINE GROVE	RECEIVED
					2012 OCT 23 AM 8: 5
					WV PURCHASING DIVISION

SIGNATURE

TELEPHONE

304-233-3000

DATE 10-22-12

TITLE auner

55-0673459

ADDRESS CHANGES TO BE NOTED ABOVE

	RFQ ISCNOO18 revised 10/10/1	2			
PART NUMBER	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENDED PRICE
	District 6 HQ, Substations and DMV Regional Offi	ces			
CPCSSX2-0ZF003	CommScope 360GS10E MODULAR PATCH CORD 3FT DK BL	Each	500	0.00	\$0.00
CPCSSX2-0ZF005	CommScope 360GS10E MODULAR PATCH CORD 5FT DK BL	Each	500	0.00	\$0.00
CPCSSX2-0ZF007	CommScope 360GS 1 OE MODULAR PATCH CORD 7FT DK BL	Each	500	6.10	\$3,050.00
CPCSSX2-0ZFO 1 0	CommScope 360GS10E MODULAR PATCH CORD 10FT DK BL	Each	500	7.13	\$3,565.00
X-30-422	BRADY IDXPERT Labels Size: 1.500" W x 0.750" H Print Area 250	Cart	20	71.07	\$1,421.40
XC-475-422	BRADY IDXPERT GLOSS POLYESTER .475IN X 30 CONT	Cart	20	67.05	\$1,341.00
XC-1000-595-YL-BK	BRADY IDXPERT OUTDOOR VINYL I.OIN X 30 FT BK on YL	Cart	5	72.74	\$363.70
XC-1 000-595-GNc WT	BRADY IDXPERT OUTDOOR VINYL 1.0IN X 30 FT WT on GN	Cart	4	72.74	\$290.96
XC-1000-595-BL-WT	BRADY IDXPERT OUTDOOR VINYL 1.0IN X 30 FT WT on BL	Cali	2	72.74	\$145.48
XSL-115-427	BRADY IDXPERT Labels 1.500" W x .500" H Print Area Self Lam_250	Cart	10	59.49	\$594.90
CF 54/300EZ	Cablofil - 2" x 12" cable tray - 10' Section	Each	75	75.21	\$5,640.7
FASPCH300PG	Cablofil - Hangers-Center Hung for 12" Tray	Each	150		\$0.00
SWKEZ	Cablofil - Splice Connectors Pack of 50	Each	6	86.24	\$517.44
12419-736	Chatsworth - 36" Wall Mount Cabinet	Each	10	803.66	\$8,036.60
12804-701	Chatsworth - Fan Kit, 115 VAC, 100 CFM	Each	10	128.55	\$1,285.50
57014-703	Chatsworth Velocity Standard Pack	Pack	15	420.30	\$6,304.50
10250-718	Chatsworth Ladder Tray 18" Section 1 0'	Each	30	118.65	\$3,559.5
10595-718	Chatsworth Ladder Tray 18" TopPlate Kit	Each	20	38.51	\$770.20
11421-718	Chatsworth Ladder Tray 18" Wall Angle Support Kit	Each	30	30.56	\$916.8
13912-703	Chatsworth Vertical Wire Manager	Each	20	279.59	\$5,591.80
760111187	CommScope iPatch System Manager Enterprise 2000	Each	1	7916.67	\$7,916.6
760095562	CommScope 360 iPatch Panel Manager	Each	19	1677.96	\$31,881.2
760105353	CommScope 360 iPatch Network Manager Module	Each	19	411.87	\$7,825.5
760092452	CommScope GigaSPEED XL MGS600 Series Cat 6A U/UTP Info Outlet, 318-blue	Each	1000	14.60	\$14,600.0
760152348	CeimmScope iPatch 1100GS6 Evolve U-UTP Patch Panel. 48 port	Each	17	704.09	\$11,969.5
760152363	CommScope iPatch 1100GS6 Evolve UIUTP Patch Panel. 24 port	Each	10	352.05	\$3,520.5
107952442	CommScope MI04 Type Surface Mount Box, four port ivory	Each	400	3.87	\$1,548.0
108216151	CommScope Faceplate 4-Hole w/blanks Modular Furniture	Each	200	5.22	\$1,044.0
760107201	CommScope GIGASPEED XI0D 2091B Category 6A UIUTP Cable, Plenum	Each	200	415.50	\$83,100.00
760008888	CommScoQe GigaSPEED® XL 1571 Category 6 UIUTP Cable, outdoor, black	Each	5	435.92	\$2,179.60

760146498	CommScope 24 Strand Fiber 1/0 TB Composite (12 SM 1 1 2 MM)	Feet	4800	0.68	\$3,264.00
760109470	360G2 Cartridge 12 LC LazrSPEED. Aqua w Pigtails	Each	6	341.07	\$2,046.42
	6 360G2 Cartridge 12 LC TeraSPEED, Blue w Pigtails	Each	6	301.64	\$1,809.84
	8 360 iPatch Upgrade Kit for 306G2-IU-MOD	Each	5	754.47	\$3,772.35
76010308	5 CommScope 360 iPatch® G2 LC Fiber Shelf, sliding	Each	5	276.78	\$1,383.90
	7 CommScope RS-2AF-16SF RoloSplice Kit $E/W$ 2x Fusion Splice Tray 1 U Shelf	Each	12	45.11	\$541.32
FDXLCLC42-MXF003	CommScope 3 FOOT - LC/LC Jumper Cable - MM	Each	12	52.23	\$626.76
FDXLCLC42-MXF007	CommScope 7 FOOT - LC/LC Jumper Cable - MM	Each	12	56.76	\$681.12
76007294	2 CommScope 1 U SS Horizontal Trough Kit	Each	15	51.42	\$771.30
76007295	9 CommScope 2U SS Horizontal Trough Kit	Each	30	54.87	\$1,646.10
76010379	6 CommScope M61A-318 BLUE ICON - 100 bag	Each	20	11.93	\$238.60
RCURN08	2 GEIST - 102D20ST5-0D Switched Ultra PDU	Each	20	854.96	\$17,099.20
RTAFHD3-12	GEIST - Remote Temperature. Humidity. Air Flow. and Dew Point Sensor, 12' cord	Each	20	146.37	\$2,927.40
GBI14420TMGBKT	HAGER 1   4" X 4" X 20" TMGB KIT	Each	18	253.98	\$4,571.64
GBI14212TGBKT	HAGER 1 1 4" X 2" X 12" TGB KIT	Each	2	119.43	\$238.86
RGBHKITI4119.25	HAGER 114" XI" X 19" RACK MOUNT KIT	Each	25	88.70	\$2,217.50
IMSOCI0-	1 Pelco - Sarix MiniDome .5 Megapixel Fixed Camera	Each	19	483.24	\$9,181.56
EZDP44S	STI 44+Single Pathway Kit w / 1 Pathway, Two (2) Mount Plates And Labels	Each	35	316.35	\$11,072.25
EZRCM44	S STI Radius Control Module - One Pair (2) For Use With Series 44+ Pathway	Each	15	11.34	\$170.10
2900	Wiremold One Piece Latching Raceway 6ft Length	Feet	1500	2.94	\$4,410.00
2911	Wiremold Flat Elbow for 2900 Raceway	Each	100	2.12	\$212.00
2906	Wiremold Cover Clip for 2900 Raceway	Each	100	2.09	\$209.00
2986	Wiremold Drop Ceiling Fitting for 2900 Raceway	Each	100	2.31	\$231.00
40N2B08	Wiremold Two Compartment Raceway Base	Each	520	43.68	\$22,713.60
40N2C08	Wiremold Two Compartment Raceway Cover	Each	520	29.16	\$15,163.20
40N2F05	Wiremold Cover Clip for 40N2B08V Base	Each	50	7.32	\$366.00
40N2F06	Wiremold Cover Clip for 40N2C08V Cover	Each	50	7.32	\$366.00
40N2F21	Wiremold Entrance Fitting For 40N2B08V Base	Each	50	24.95	\$1,247.50
40N2F11	Wiremold Flat Elbow for 40N2B08V Raceway	Each	50	25.41	\$1,270.50
40N2F17	Wiremold Internal Elbow for 40N2B08V Raceway	Each	50	14.12	\$706.00
40N2FI9	Wiremold External Elbow for 40N2B08V Raceway	Each	50	17.39	\$869.50
40N2F20	Wiremold Blank End Fitting for 40N2B08V Raceway	Each	50	7.64	\$382.00
SU16000RT4U	TRIPP-LITE SMARTONLINE 16 KV A HOT -SWAPP ABLE UPS	Each	1	13503.30	\$13,503.30
BPI92VI8-4U	TRIPP-LITE EXTERNAL BATTERY PACK FOR UPS SYSTEM	Each	1	3067.05	\$3,067.05
PDUMV2	TRIPP-LITE METERED PDU 20A VERT 60IN 20 OUTLETS	Each	2	210.21	\$420.42

PDUMV30HV	TRIPP-LITE 30A VERT MTRD PDU W/L6-30P	Each	2	414.65	\$829.30
P036-006	TRIPP-LITE 6FT AC POWER SPLITTER CABLE	Each	12	32.79	\$393.48
SR4POST2	5 TRIPP-LITE 25U 4-POST SMARTRACK OPEN FRAME RACK	Each	1	549.65	\$549.65
W02-BW2-1BD	TRIPP-LITE Factory Start-Up	Each	1	4172.10	\$4,172.10
SU 1 OOORTXL2U A	SmartOnline lkVA Dble-Conversion UPS, Rack/Tower, 1001110/120V NEMA outlets	Each	20	738.65	\$14,773.00
SNMPWEBCARD	For remote monitoring and control via SNMP. Web or Telnet	Each	21	228.93	\$4,807.53
BP24V15RT2U	External Battery Pack for UPS System	Each	5	227.60	\$1,138.00
			Mate	rials Price	\$365.040.95
			Installa	ition Price	\$472,200.00
	District 6 HQ, Substations and DM	IV Regional	V Regional Offices - Total Bid Price		
Costs for all labor, material, equi	pment, and supplies for the complete installation of this project as herein defined				
must be included in the total bid	price above,				
Please provide a labor cost per~	oLJr~n~h~spa~ listed. This rate shall be_\Jsed for cha_nge~,"-d~"J)urp()s~s only.	Hour	75.00		

#### ADDITIONAL TERMS AND CONDITIONS (Construction Contracts Only)

1. CONTRACTOR'S LICENSE: West Virginia Code § 21-11-2 requires that all persons desiring to perform contracting work in this state be licensed. The West Virginia Contractors Licensing Board is empowered to issue the contractor's license. Applications for a contractor's license may be made by contacting the West Virginia Division of Labor.

West Virginia Code § 21-11-11 requires any prospective Vendor to include the contractor's license number on its bid. Failure to include a contractor's license number on the bid shall result in Vendor's bid being disqualified. Vendors should include a contractor's license number in the space provided below.

	Fort	Henry	Realty	Inc.	dba
Contractor's Name	Adva	nced	Communio	catio	ns Co.
Contractor's Licens	e No.	WV01	3681		

The apparent successful Vendor must furnish a copy of its contractor's license prior to the issuance of a purchase order/contract.

- 2. DRUG-FREE WORKPLACE: W. Va. Code § 21-1D-5 provides that any solicitation for a public improvement contract requires each Vendor that submits a bid for the work to submit at the same time an affidavit that the Vendor has a written plan for a drug-free workplace policy. To comply with this law, Vendor must either complete the enclosed drug-free workplace affidavit and submit the same with its bid or complete a similar affidavit that fulfills all of the requirements of the applicable code. Failure to submit the signed and notarized drug-free workplace affidavit, or a similar affidavit that fully complies with the requirements of the applicable code, with the bid shall result in disqualification of Vendor's bid.
- 3. AIA DOCUMENTS: All construction contracts that will be completed in conjunction with architectural services procured under Chapter 5G of the West Virginia Code will be governed by the AIA A101-2007 and A201-2007 or the A107-2007 documents, as amended by the Supplementary Conditions for the State of West Virginia, in addition to the terms and conditions contained herein.
- 4. SUBCONTRACTOR LIST SUBMISSION: In accordance with W. Va. Code § 5-22-1, The apparent low bidder on a contract for the construction, alteration, decoration, painting or improvement of a new or existing building or structure valued at more than \$500,000.00 shall submit a list of all subcontractors who will perform more than \$25,000.00 of work on the project including labor and materials. This provision shall not apply to any other construction projects, such as highway, mine reclamation, water or sewer projects.
  - c. Required Information. The subcontractor list shall contain the following information:

Rev March 2009



# State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OFWest_Virginia
COUNTY OF, TO-WIT:
I, George V. Thieroff Jr, after being first duly sworn, depose and state as follows:  Fort Henry Realty Inc. dba Advanced Communications Co.  (Company Name) Fort Henry Realty, Inc. dba 2. I do hereby attest that Advanced Communications Co.
(Company Name) maintains a valid written drug free workplace policy and that such policy is in compliance with <b>West Virginia Code</b> §21-1D-5.
The above statements are sworn to under the penalty of perjury.  Fort Henry Realty, Inc. dba Advanced Communications Co.  (Company Name)  By:
Title: <u>President/Owner</u> Date: October 19, 2012
Taken, subscribed and sworn to before me this 22 day of Ockber 2012
OFFICIAL SEAL NOTARY PUBLIC STATE OF WEST VIRGINIA CHARLIE R BLIES Fort Henry Reality Inc. 2744 Eoff Street Wheeling, West Virginia 20003 My Commission Expires Apr. 8, 2022  THIS AFTIDAVIT MUST BE SUBMITTED WITH THE BID IN ORDER TO COMPLY WITH WV CODE PROVISIONS. FAILURE TO INCLUDE THE AFFIDAVIT WITH THE BID SHALL RESULT IN DISQUALIFICATION OF
THE BID.

RFQ No. ISCN 0018

## STATE OF WEST VIRGINIA Purchasing Division

### **PURCHASING AFFIDAVIT**

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

**EXCEPTION:** The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

# WITNESS THE FOLLOWING SIGNATURE: Vendor's Name: Fort Henry Realty, Inc. dba Advanced Communications Company

Authorized Signature:	_ Date:	10-22-12	
State of West Virginia			
County of Ohio, to-wit:			
Taken, subscribed, and sworn to before me this 22 day of October	•	, 20 12.	
My Commission expires April 8 , 20 22	$\bigcirc$ $\alpha$	,	n.
AFEIX SEAL HERE NOTARY PUBLIC	( has	die 1.130	Pis

AFFIX SEAL HERE

OFFICIAL SEAL
NOTARY PUBLIC
STATE OF WEST VIRGINIA
CHARLIE A. BLISS
Fort Henry Really Inc.
2744 Eoff Street
Wheeling, Wost Virginia 26003
My Commission Expires Apr. 8, 2022

Purchasing Affidavit (Revised 07/01/2012)

#### CERTIFICATION AND SIGNATURE PAGE

By signing below, I certify that I have reviewed this Solicitation in its entirety; understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid or proposal for review and consideration; that I am authorized by the bidder to execute this bid or any documents related thereto on bidder's behalf; that I am authorized to bind the bidder in a contractual relationship; and that to the best of my knowledge, the bidder has properly registered with any State agency that may require registration.

Fort Henry Rea Advanced Commu	alty, Inc. dba unications Company
(Company)	
0	
(Authorized Signature)	
Owner/Presider	ıt
(Representative Name, Title	)
304-233-3000	304-233-9666
(Phone Number)	(Fax Number)
October 19, 20	)12
(Date)	

## ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: ISCN0018

**Instructions:** Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

**Acknowledgment:** I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

# Addendum Numbers Received: (Check the box next to each addendum received)

[ x ]	Addendum No. 1	[	]	Addendum No. 6
[ x ]	Addendum No. 2	[	]	Addendum No. 7
[ ]	Addendum No. 3	[	]	Addendum No. 8
[ ]	Addendum No. 4	]	]	Addendum No. 9
[ ]	Addendum No. 5	ſ	1	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Company

Authorized Signature

October 19, 2012

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



VENDOR

WY PURCHASING ACA SECT Fax 304-558-4115 SIGNE OF MARSE AURITUM Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

1115	0ct	15	2012	12:49pm	P001/004
SCN0018	3				1_

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

RFQ COPY TYPE NAME/ADDRESS HERE

DEPARTMENT OF ADMINISTRATION IS&C - COMMUNICATIONS 1900 KANAWHA BLVD. E. BUILDING 5, 10TH FLOOR CHARLESTON, WV 304-558-5472 25305

ADDRESS CHANGES TO BE NOTED ABOVE

DATE PRINTED 10/15/2012 BID OPENING DATE: .30PM OPENING TIME 10/23/ AMOUNT CAT. UNIT PRICE UOP ITEM NUMBER QUANTITY LINE ADDENDUM NO. 1 THIS ADDENDUM IS ISSUED TO AMEND THE CRIGINAL SOLICITATION (ISON0018) PER THE ATTACHED. See Price Sheet 280-75 837,240.95 LS 0001 TIES, CABLE AND WIRING \$ 837,246.95 ISCNOO18 \*\*\*\*\* TOTAL: THIS IS THE END OF REQ TELEPHONE SIGNATURE 304-23

## SOLICITATION NUMBER: ISCN0018 Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

#### Applicable Addendum Category:

14	l	Modity bid opening date and time
[	ì	Modify specifications of product or service being sought
(	I	Attachment of vendor questions and responses
[	1	Attachment of pre-bid sign-in sheet
[	١	Correction of error
1	ı	Other

#### Description of Modification to Solicitation:

Bid Opening Date is Extended to: 10/23/2012 Bid Opening Time remains: 1:30 PM EST

Technical questions will be answered by subsequent addendum.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

#### Terms and Conditions:

- All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

## ATTACHMENT A

# ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: ISCN0018

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

(Check	the	po:	x next to each addendum	recei	ved	)	
	[ /	]	Addendum No. 1		[	]	Addendum No. 6
	[/	1	Addendum No. 2		[	}	Addendum No. 7
	[	]	Addendum No. 3		[	J	Addendum No. 8
	(	]	Addendum No. 4		[	]	Addendum No. 9
	[	]	Addendum No. 5		]	]	Addendum No. 10
			€				

Addendum Numbers Received:

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

FORT Henry Re	alty Inc. dba munications Co.
	Company
	Authorized Signature
10-22-12	
	Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Revised 6/8/2012



Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

WV PURCHASING ACA SECT Fax 304-558-4115

ISC

ASDRESS:

KRISTA FE

ISCN0018

Oct 15 2012 01:32pm P001/011

ADDRESS CORRESPONDENCE TO A TENTION OF

KRISTA FERRELL

DOOZEK

Fort Henry Realty
DBA Advanced Communications Co.
Attn: Louis Harvath
2744 Eoff Street
Wheeling, WV 26003

DEPARTMENT OF ADMINISTRATION
IS&C - COMMUNICATIONS
1900 KANAWHA BLVD. E.
BUILDING 5, 10TH FLOOR
CHARLESTON, WV
25305 304-558-5472

ADDRESS CHANGES TO BE NOTED ABOVE

DATE PRINTED QUANTITY AMOUNT LINE VOP ITEM NUMBER UNIT PRICE ADDENDUM NO. 2 THIS ADDENDUM IS ISSUED TO AMEND THE CRIGINAL SOLICITATION (ISON0018) PER THE ATTACHED. LS 280-75 0001 See Price Sheet TIES, CABLE AND WIRING THIS IS THE END OF REQ ISCNd018 \*\*\*\*\* TOTAL: SIGNATURE TELEPHONE

# SOLICITATION NUMBER: ISCN0018 Addendum Number: 2

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

[ ]	Modify bid opening date and time
<b>[</b> \[ \]	Modify specifications of product or service being sought
[1]	Attachment of vendor questions and responses
[ 🗸 ]	Attachment of pre-bid sign-in sheet
1 1	Correction of error

#### Description of Modification to Solicitation:

Other

Applicable Addendum Category:

To revise cost sheet per answers to technical questions

To provide answers to all technical questions submitted in accordance with the provisions of the original RFQ

To provide a copy of the mandatory pre-bld attendee list.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

#### Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

## ATTACHMENT A

#### TECHNICAL QUESTIONS

#### ISCN0018

- 1. Are power poles going to be acceptable for cubicles?
- A. Yes
- Can the Fiber change-over be done during the weekend and/or evenings?
- A. Yes
- 3. With no OSP work, can we strike the specialist from the requirement?
- A. No, there is OSP between the buildings at the D-6 HQ and yet to be determined at the county HQ's and sub stations.
- 4. Does the old data/phone get demoed?
- A. Yes
- 5. If our material count ends up different, whose number do we use?
- A. Vendor must bid the materials on the revised price sheet. Vendor must bid installation labor for all 16 locations. Pages 27 and 28 reflect the amount of cable runs. District 6 HQ has a total of 352 cable runs. Each of the 6 county HQ's has 36 total cable runs. Each of the 7 substations has 20 total cable runs. The 2 DMV locations change from 38 cable runs at each location to 90 total cable runs at each location.
- Page 27 states that OM4 12 strand terminating at administration building and 6 strand terminating at DT5-SHP, but bid price sheet states to use a hybrid 12/12SM. MM?
- A. The vendor must install 12 strands of SM and 12 strands of MM fiber from the building 1st floor Telecommunications Equipment Room (TER) to the 3rd floor TER, install 12 strands of SM and 12 strands of MM fiber from the admin building 1st floor equipment room to the Bridge Sign Shop TER and install 12 strands of SM and 12 strands of MM fiber from the admin building 1st floor equipment room to the Maintenance Shop TER.
- 7. Are blank covers on old plant required after change-over?
- A. Yes
- 8. Will plenum cable be acceptable in the maintenance shop open ceiling if secured above wind braces instead of conduit?
- No. Conduit must be used to protect the cable.

- 9. Can the IT rooms be secured for warranty issues?
- A. The security for the rooms will have to be addressed in a separate procurement.
- 10. Do you want hard and electronic copies of the certifications?
- A. Yes.
- In the pre-bid meeting, it was discussed that the existing cable would need to be removed (demo) after the new system is cut over. Is this a task that is to be added to the RFQ scope of work?
- A. Yes. To be in compliance with the National Electrical Code, all abandoned cable must be removed by the vendor after migration to the new cable.
- 12. In the pre-bid meeting, it was discussed that the install of network equipment and cut over may be desired by the State to be added to the RFQ scope of work. Is this a task that is to be added to the RFQ scope of work?
- A. No.
- In the pre-bid meeting, it was discussed that the existing voice and data cabling will need to be in service until the new cabling is cut over. The existing jack locations are stubbed with conduit which most likely will not have the capacity to handle the new Cat-6A cable along with the existing. Is it desired that the existing cables in service be removed from the conduit and station boxes and re-terminated outside of the wall and conduit temporarily to make room for the new Cat-6A? If so, will this additional task be added to the RFQ scope of work?
- A. Yes. The existing cables in service shall be removed from the conduit and station boxes and re-terminated outside of the wall and conduit temporarily to make room for the new Cat-6A and must be removed along with other abandoned cable after migration to the new cable.
- 14. In the pre-bid meeting, it was observed that the existing voice cabling terminates in a separate location from the Data cabling. Once the new cabling is in place, all Cat-6A drops will reside in the data room. Using any new Cat-6A cable for legacy voice applications will require a voice tie cable to be installed between the voice closet (MPOP) and the data closet. Is the task of installing a Cat-3 multi-pair tie cable between the closets to be added to the RFQ scope of work? If so, what is the quantity of pairs desired between the Voice closet (MPOP) and the 1st Floor Data closet and the Voice closet (MPOP) and the 3st Floor Data closet?
- A. Yes, 100 pair on 1<sup>st</sup> floor and 4 4 pairs or 1 25 pair to 3<sup>rd</sup> floor terminated on 66 blocks on 89b style brackets on both ends.

### PRE-BID CONFERENCE SIGN IN SHEET

Project Description:	Yumber: ISCNO		10/02/12
	WISTRIE T	6 DOT Reces	The same of the sa
PLEASE PRINT LEGIBI	LY. THIS INFORMATION IS ESSENTIAL	TO CONTACT THE	IN A TIMELY MANNER. FAILURE TO DO SO
Firm Name:	YS IN YOUR COMPANY GETTING IMPO	RTANT BID INFORMATION	IN A TIMELY MANNER. FAILURE TO DO SO
Firm Address:	The state of the s	Firm Name:	
	CHARLES 16N NU 25	Firm Address	STATE Electric Siphy
	CHANCES 16, N NU 75	2/	9601 CAMDO AVE
			Parkashy UV 24:01
Representalive Attending:	KEUM HYPES		
Fax Number:	364-344-4371	Representaive Attendin	9: Bill Roberts
Email Address:	364-344-6374	Phone Number: Fax Number:	304-424-8100
	Kesin. hypes@graybur.co	Email Address:	304-434-8140
Firm Name: Fort H	Com Ballatox dim Advenced Comminication		B.N. Bobert @ STATE Flearer Com
Firm Address:	2744 Eoff St.		
	Wheeling wo 26003	Firm Address:	FRC-1-Electric LLC.
1			mirror will wiv 20150
Represenative Attending:			12016 1 3011) 4012-0102
Phone Number:	Louis Harvath	Representiive Attending:	
Fax Number:	304-335-3000 301-335-9666	Phone Number:	
Email Address:	Thursonth Doccountralicon	Fax Number:	304-483-8487
	Southern Town	Email Address:	30471099-5379
irm Name:	Genyan GLECTIVE		mores problement com.
irm Address:	900 RODE ALL	Firm Mame:	Yerizon
ran-	ATTERNATION PA 15212	Firm Address:	827 Fair mont Rd
Prince			Suite 204
epresenative Attending:			morgan foun wy 36501
none Number:	GRAY ROBGENS	Represenative Attending:	2000
x Number:	(tie) 320-2576	Phone Number:	Lance Host (Lawrence)
awar k k i	(4n) 727 - 9685	Fax Number:	301-584-0205
The same of the party of the same of the s	gary, rodges @ grandy. com		304-284-0500 "rence. host@ Ver: zon.com